

$$r = \lim_{n \rightarrow \infty} \frac{a_n}{a_{n+1}} = \lim_{h \rightarrow \infty} \frac{\sqrt[n]{n!}}{\sqrt[n+1]{(n+1)!}} = \lim_{h \rightarrow \infty} \frac{\sqrt[n]{n!}}{\sqrt[n]{n!} \cdot \sqrt[n+1]{n+1}} = 1$$

$$X \in (-1, 1)$$

$$x=1: \sum_{n=1}^{\infty} \frac{1}{n!} = e - 1$$

$$\sum_{n=1}^{\infty} \frac{1}{n!} < 5 \quad \forall n > 1, n \in \mathbb{N}$$

$$\sum_{n=1}^{\infty} \frac{1}{n!} > 1$$

$$\sum_{n=1}^{\infty} \frac{1}{n!} > \sum_{n=1}^{\infty} \frac{1}{2^n} = 1$$

$$x=-1: \sum_{n=1}^{\infty} \frac{1}{n!} = e - 1$$

$$\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} \frac{1}{n!} = 0$$

$$\sum_{n=1}^{\infty} \frac{1}{n!} \quad K \text{ pro } x \in (-1, 1)$$

12 12-17:55

$$r = \lim_{n \rightarrow \infty} \frac{a_n}{a_{n+1}} = \lim_{h \rightarrow \infty} \frac{1}{(h+1) \cdot 5^{\frac{1}{h+1}}} = \frac{1}{5}$$

$$\lim_{n \rightarrow \infty} \frac{5(n+1)}{5} = 5$$

$$x \in (-3, 7)$$

$$x=7: \sum_{n=1}^{\infty} \frac{5^n}{5^n} = \sum_{n=1}^{\infty} 1 = \infty \quad D$$

$$x=-3: \sum_{n=1}^{\infty} \frac{(-3)^n}{5^n} = \sum_{n=1}^{\infty} \left(\frac{-3}{5}\right)^n = \frac{(-3/5)}{1 - (-3/5)} = \frac{-3/5}{8/5} = -\frac{3}{8} \quad K$$

$$\sum_{n=1}^{\infty} \frac{(x-2)^n}{5 \cdot 5^n} \quad K \text{ pro } x \in (-3, 7)$$

12 12-18:08

$$\sum_{n=1}^{\infty} f_n(x) = \sum_{n=1}^{\infty} f'(x) \quad (x \in OK)$$

$$\sum_{n=1}^{\infty} (n x^{n-1}) = \sum_{n=1}^{\infty} n x^{n-1}$$

$$\int \left(\sum_{n=1}^{\infty} f_n(x) \right) dx = \sum_{n=1}^{\infty} \left(\int f_n(x) dx \right) \quad x \in OK$$

$$\sum_{n=1}^{\infty} \frac{1}{n 5^n} \int x^{n-1} dx = \frac{x^n}{n} \quad |x| < 1$$

$$= \sum_{n=1}^{\infty} \left(\int_0^x x^{n-1} dx \right) = \sum_{n=1}^{\infty} \left[\frac{x^n}{n} \right]_0^x = \sum_{n=1}^{\infty} \frac{x^n}{n}$$

$$\int_0^x \sum_{n=1}^{\infty} x^{n-1} dx = \int_0^x \frac{1}{1-x} dx = -\ln|1-x|$$

$$\sum_{n=1}^{\infty} \frac{x^n}{n} = -\ln|1-x|$$

$$\sum_{n=1}^{\infty} \frac{1}{n 5^n} = -\ln \left| 1 - \frac{1}{5} \right| = -\ln \left(\frac{4}{5} \right) = \ln \frac{5}{4}$$

12 12-18:16

$$\sum_{n=0}^{\infty} (-1)^n (2n+1) \left(\frac{1}{5}\right)^{2n} \quad |x| < 1$$

$$\sum_{n=0}^{\infty} (-1)^n (2n+1) x^{2n}$$

$$(x^{2n+1})' = (2n+1) x^{2n}$$

$$\sum_{n=0}^{\infty} x^{2n+1} = x + x^3 + x^5 + x^7 + \dots$$

$$\sum_{n=0}^{\infty} (-1)^n (2n+1) x^{2n} = \left(\sum_{n=0}^{\infty} (-1)^n x^{2n+1} \right)' = \left(\frac{x}{1+x^2} \right)'$$

$$= \frac{1+x^2 - x \cdot 2x}{(1+x^2)^2} = \frac{1-x^2}{(1+x^2)^2}$$

$$\sum_{n=0}^{\infty} (-1)^n (2n+1) x^{2n} = \frac{1-x^2}{(1+x^2)^2}$$

$$x = \frac{1}{5}$$

$$\frac{1 - \frac{1}{25}}{\left(1 + \frac{1}{25}\right)^2} = \frac{\frac{24}{25}}{\left(\frac{26}{25}\right)^2} = \frac{25 \cdot 24}{26^2}$$

12 12-18:28

$$\sum_{n=1}^{\infty} n \cdot \left(\frac{1}{5}\right)^n$$

$$(x^n)' = n x^{n-1} \quad |x| < 1$$

$$x (x^n)' = n x^n$$

$$= x \cdot \left(\sum_{n=1}^{\infty} x^n \right)' = x \cdot \left(\frac{x}{1-x} \right)'$$

$$= x \cdot \frac{1-x+x}{(1-x)^2} = \frac{x}{(1-x)^2}$$

$$\sum_{n=1}^{\infty} n \cdot x^n = \frac{x}{(1-x)^2}$$

$$x = \frac{1}{5}$$

$$\sum_{n=1}^{\infty} n \cdot \left(\frac{1}{5}\right)^n = \frac{\frac{1}{5}}{\left(1 - \frac{1}{5}\right)^2} = \frac{\frac{1}{5}}{\left(\frac{4}{5}\right)^2} = \frac{5}{16}$$

12 12-18:38

$$\sum_{n=1}^{\infty} n^2 \cdot \left(\frac{1}{5}\right)^{n-1}$$

$$(x^n)' = n x^{n-1} \quad |x| < 1$$

$$x (x^n)' = n x^n$$

$$(x (x^n))' = n^2 x^{n-1}$$

$$\left(\sum_{n=1}^{\infty} x^n \right)' = \sum_{n=1}^{\infty} n x^{n-1} = \frac{x}{(1-x)^2}$$

$$x \cdot \left(\sum_{n=1}^{\infty} n x^{n-1} \right)' = \sum_{n=1}^{\infty} n^2 x^{n-1}$$

$$\left(\frac{x}{(1-x)^2} \right)' = \frac{(1-x)^2 + 2x(1-x)}{(1-x)^4} = \frac{1-2x+x^2+2x-2x^2}{(1-x)^4} = \frac{1-x^2}{(1-x)^4}$$

$$\sum_{n=1}^{\infty} n^2 \left(\frac{1}{5}\right)^{n-1} = \frac{1 - \left(\frac{1}{5}\right)^2}{\left(\frac{4}{5}\right)^4} = \frac{24}{625}$$

12 12-18:45

$\sum_{n=1}^{\infty} n(n+1) \left(\frac{x}{2}\right)^n$
 $\sum_{n=1}^{\infty} n(n+1)x^n$
 $(x^{n+1})' = (n+1)x^n$
 $((x^{n+1})')' = n(n+1)x^{n-1}$
 $x((x^{n+1})') = n(n+1)x^n$
 $(x^2)' = 2x$
 $(x^2)' = 2x$
 $(x^2 \cdot (x^n))' = n(n+1)x^n$
 $\sum_{n=1}^{\infty} n(n+1)x^n = \sum_{n=1}^{\infty} (x^2 \cdot (x^n))' = \sum_{n=1}^{\infty} (x^2)' \cdot x^n + x^2 \cdot \sum_{n=1}^{\infty} (x^n)'$
 $= \sum_{n=1}^{\infty} 2x \cdot x^n + x^2 \cdot \sum_{n=1}^{\infty} n x^{n-1}$
 $= 2x \sum_{n=1}^{\infty} x^n + x^2 \cdot \sum_{n=1}^{\infty} n x^{n-1}$
 $= 2x \cdot \frac{x}{1-x} + x^2 \cdot \frac{1}{(1-x)^2}$
 $= \frac{2x^2}{1-x} + \frac{x^2}{(1-x)^2}$
 $= \frac{2x^2(1-x) + x^2}{(1-x)^2}$
 $= \frac{2x^2 - 2x^3 + x^2}{(1-x)^2}$
 $= \frac{3x^2 - 2x^3}{(1-x)^2}$
 $x = \frac{1}{2}$

12 12-18:57

$\sum_{n=1}^{\infty} \frac{x^n}{n(n+1)}$
 $\int x^{n-1} dx = \frac{x^n}{n}$
 $\int (x^{n+1} - x^n) dx = \frac{x^{n+2}}{n+2} - \frac{x^{n+1}}{n+1}$
 $\frac{1}{x} \int (x^{n+1} - x^n) dx = \frac{x^{n+1}}{n(n+1)}$
 $\sum_{n=1}^{\infty} \frac{x^n}{n(n+1)} = \sum_{n=1}^{\infty} \int (x^{n+1} - x^n) dx = \int \sum_{n=1}^{\infty} (x^{n+1} - x^n) dx$
 $= \int \frac{1}{1-x} dx = -\ln(1-x)$
 $\sum_{n=1}^{\infty} \frac{x^n}{n(n+1)} = \int \frac{1}{1-x} dx = -\ln(1-x)$
 $= -\ln(1-x) = -\int \ln(1-x) dx$
 $= \int \ln(1-x) dx$
 $= -x \ln(1-x) - \int \frac{x}{1-x} dx =$
 $= -x \ln(1-x) + \int \frac{1-x-1}{1-x} dx$
 $= -x \ln(1-x) + x + \ln|1-x|$
 $\sum_{n=1}^{\infty} \frac{x^n}{n(n+1)} = -\ln(1-x) + x + \frac{\ln|1-x|}{x}$

12 12-19:06

$e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!}$
 $\cos x = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n}}{(2n)!}$
 $\sin x = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{(2n+1)!}$

 $e^{-x^2} = \sum_{n=0}^{\infty} \frac{(-x^2)^n}{n!}$

12 12-19:14

$\text{arctg } \frac{\sqrt{3}}{3}$
 $\int \frac{1}{1+x^2} dx = \text{arctg } x$
 $\int 1 - x^2 + x^4 - x^6 \dots dx$
 $\int \sum_{n=0}^{\infty} (-1)^n x^{2n} dx = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{2n+1}$
 $\text{arctg } x = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{2n+1}$
 $\text{arctg } \frac{\sqrt{3}}{3} = \frac{\sqrt{3}}{3} - \frac{(\frac{\sqrt{3}}{3})^3}{3} + \frac{(\frac{\sqrt{3}}{3})^5}{5} - \frac{(\frac{\sqrt{3}}{3})^7}{7} + \dots$

12 12-19:16

$e^2 = \sum_{n=0}^{\infty} \frac{2^n}{n!} = 1 + \frac{2}{2} + \frac{2^2}{2!} + \frac{2^3}{3!} + \frac{2^4}{4!} + \frac{2^5}{5!} \dots$
 $e^2 = 1 + \frac{4}{2} + \frac{8}{6} + \frac{16}{24} + \frac{32}{120} + \dots + \frac{2}{9!}$

12 12-19:23

$\lim_{x \rightarrow \infty} \left(\frac{1}{x} - x \ln \left(1 + \frac{1}{x} \right) \right)$
 $\ln(1+t) = \int \frac{1}{1+t} dt$
 $\ln(1+\frac{1}{x}) = \int \frac{1}{1+t} dt$
 $= \int (1 - t + t^2 - \dots) dt$
 $= \sum_{n=0}^{\infty} (-1)^n \int t^n dt$
 $= \sum_{n=0}^{\infty} (-1)^n \frac{t^{n+1}}{n+1}$
 $\ln(1+\frac{1}{x}) = \sum_{n=0}^{\infty} (-1)^n \frac{1}{(n+1)x^{n+1}}$
 $= \frac{1}{x} - \frac{1}{2x^2} + \frac{1}{3x^3} - \dots$
 $\lim_{x \rightarrow \infty} \left(\frac{1}{x} - x \ln \left(1 + \frac{1}{x} \right) \right) =$
 $\lim_{x \rightarrow \infty} \left(\frac{1}{x} - x \left(\frac{1}{x} - \frac{1}{2x^2} + \frac{1}{3x^3} - \dots \right) \right)$
 $\lim_{x \rightarrow \infty} \left(\frac{1}{x} - 1 + \frac{1}{2x} - \frac{1}{3x^2} + \dots \right) = -1$
 $\lim_{x \rightarrow \infty} \left(\frac{1}{x} - x \ln \left(1 + \frac{1}{x} \right) \right) = -1$

12 12-19:25